faill:
fail2:
fail3:
fail4:
failb:
failb:
totBad 7899

totCnt21988

dec 2013 distomats 1,6 failures (T12)  * DIST1 + DIST6 GoodDist:3

207\“ T i i ;K\ i ]
B :+ X T
- < ]
15 —H ¥ x X ]
T %%; &> i
[ Kx X + * K %]
I * j? +]
N 10— | ¥ |
- ‘ —
- . ]
o * o]
5 y —
- ‘ * —
360 - i
416 Oiw\ L) ]
5662 0 300
326 oz
3330 dec 2013 distomats 2,3 failures (T4)  * DISTZ + DISTS

41 T T T |

az




B}
e
Q
E
faill: 360
fail2: 416
faild: 5662
faild: 326
failb: 3330
fail: 41

totBad /7899

totCnt21988

hourOfDay

hourOfDay

25

20

25

20

dec 2013 distomats 1,6 failures (T12)  * DIST1 + DIST6 GoodDist:3

I T T I T T T T T T T T T I T T T T T T T T T I T T T T T T
o ¥ KX i
B %% L+ PR o
] XK XK ¥ x K %i X K xR X ]
r ‘%aﬁé%% s Mo * | ’ % X '% % 7
B + + X | X ;E x 7]
— PN | s 1 —
-+ x \ Lx ¥ 7
- ¥ XK | X X 7
o * \ § 7
L | Z |
C ‘ ]
Lo % x MK X + x ¥ | K X * i,
f: X ¥ : ¥ x o+ K X 7]
C %@ﬁ%é w x| X B X ]
Ll L ‘%Q% P ]

0 100 200 300

az

dec 2013 distomats 2,3 failures (T4)

* DIST2 + DISTS

az

dec 2013 distomats 4,5 failures (T8)

* DIST4 + DISTD

++

az



